LINEARNE NEROVNICE - B Meno

Trieda
Oznac spravne rieSenie nerovnice!
— <
1 acsiP 2) —47<4r+9
6 A r=5 B) r>-20
A) p>-33 B) p>-23 C) r>-14 D) r>-37
C) p>-6 D) p>-31
3 -10+k_ 4) —-5—-10n> 185
A) n<-6 B) n>-6
A) k<-20 B) k<45 C) n<-19 D) n<—-40
C) k<6 D) k<-7
_ > _
5 6<"_3 6) —20 > —4(m+2)
2 A) m>-26 B) m<-9
A) n>-3 B) n>-6 C) m>3 D) m>-9
C) n<-21 D) n>-21
> _
7) 2k + 6 > 24 8) 95X 9
A) k>9 B) k>-32 3
C) k>5 D) k>-40 A) x>-1 B) x<-18
C) x<-1 D) x>-18
9) _7£_5+§ 10) —10x+5>-185
8 A) x<19 B) x<6
A) x>-24 B) x>-17 C) x>6 D) x<9

C) x>-42 D) x>-16
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2) C 3) C
6) C 7) A
10) A
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